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S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.018 - 0.182 0.065 &
A T 1.512 0.011-0.703 0.117 =
/L4, (HCI) 4,545 0.001 - 0.201 0.121 =
mIbE (HF) 0.306 0.001 - 0.057 0.026 s
— &b (SO2) 15.147 0.066 - 6.170 2.406 =
—4& kbR (CO) 7.578 0.000 - 0.212 0.049 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.916 - 10.429 1.831 =
s E
(b) [FFEEEH - HI9ME (HSEHBRENLASKEE)
(A 0.756 0.055 - 0.074 0.065 &
HEA T 0.756 0.063 - 0.202 0.118 =
/L4, (HCD 0.756 0.073-0.182 0.121 =
wAbE (HF) 0.072 0.014 - 0.040 0.026 =
— &b (SO2) 3.789 2.094 - 2.640 2.408 =
—&Ei% (CO) 3.789 0.024 - 0.094 0.050 =
HAY (NOx)
DL E/EE (NOY) 15.147 1.087 - 3.972 1.838 =
ETE
28 HERRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
B EEE® 0.0378 <0.0051 e
IR R g ) 7.575x 10°° <5.697 x 1020 &
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S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.001 - 0.020 0.002 &
LA 1.512 0.027 - 0.727 0.103 =
ZF/bFE (HCI) 4545 0.031-0.114 0.077 s
mIbE (HF) 0.306 0.006 - 0.049 0.024 s
— &b (SO2) 15.147 0.291 - 3.377 1.937 =
—4& kbR (CO) 7.578 0.002 - 0.101 0.054 =
FALY) (NOx)
PL=&dE%E (NO2) 30.303 0.594 - 6.344 1.531 =
EFE
(b) [FFEEEH - HI9ME (HSEHBRENLASKEE)
(A 0.756 0.002 - 0.003 0.002 &
LA 0.756 0.049 - 0.232 0.103 =
#F/bE (HCI) 0.756 0.057 - 0.098 0.077 s
wAbE (HF) 0.072 0.018 - 0.037 0.024 s
— &b (SO2) 3.789 1.739 - 2.299 1.937 =
—&Ei% (CO) 3.789 0.026 - 0.081 0.054 =
HAY (NOx)
D= %AEE (NOY) 15.147 0.889 - 3.255 1.534 =
ETE
28 HERRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEFTER)
K 0.003789 <0.0004 =
S SE VAR 0.003789 <0.0015 =
B EEE® 0.0378 <0.0066 e
IR R g ) 7.575x 10°° <7.398 x 1020 &
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S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(DA 2.277 0.002 - 0.041 0.004 &
LA 1.512 0.000 - 0.607 0.063 =
/L4, (HCI) 4,545 0.030 - 0.114 0.076 =
mIbE (HF) 0.306 0.001 - 0.044 0.020 =
— &b (SO2) 15.147 0.135 - 3.262 1.730 =
—4&bi% (CO) 7.578 0.000 - 0.085 0.044 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.301 - 5.194 1.259 =
s E
(b) [FFEEEH - HI9ME (HSEHBRENLASKEE)
(A 0.756 0.003 - 0.007 0.004 &
LA 0.756 0.021-0.128 0.063 =
#F/bE (HCI) 0.756 0.054 - 0.100 0.075 s
wAbE (HF) 0.072 0.010 - 0.029 0.020 s
— &b (SO2) 3.789 1.512 - 2.003 1.731 =
—&Ei% (CO) 3.789 0.028 - 0.065 0.044 g
HAY (NOx)
DL E/EE (NOY) 15.147 0.525 - 2.794 1.259 =
ETE
28 HERRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
B EEE® 0.0378 <0.0049 e
IR R g ) 7.575x 10°° <5.521 x 1020 &
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